W%t FH 659

EFIIREI IR
B, 2T
H X = BB BN PR ER A T E 2 A LA
£EET 3524.47 3 246.97 373.25 -58.45
R 64.02 57.08 10.73 -3.25
R 104.86 94.98 13.14 -2.15
A 70.81 64.69 10.21 -3.41
1TFEy 57.19 50.43 11.11 -4.34
HEHEREK 17.76 16.07 4.22 -2.73
ULTH 133.16 118.86 21.14 -4.69
HEHRE 32.12 29.46 7.46 -4.04
L2y A1) 40.19 36.22 8.06 -3.53
ot 3] 278.85 252.58 30.02 4.39
LHE 371.45 343.29 29.69 ~0.99
HiLE 481.80 448.83 33.42 3.47
WA 86.17 . 79.77 9.04 -1.93
£:3:.£) 225.85 210.66 15.63 ’ 3.67
PN R 60.12 56.10 6.39 -2.06
ILRE 251.16 226.19 33.11 -3.59
A 47.34 42.68 8.39 -3.43
i ) 91.99 85.46 11.57 -4.95
R 87.35 79.83 11.42 -2.62
I"RE 690.51 654.46 46.69 -5.85
IERRBRE 78.19 7.7 11.39 -3.98
HEA 10.84 9.99 1.50 -0.83
bgllE= 57.25 52.28 8.87 -2.97
HX
B’MNE 16.31 14.25 3.11 -0.93
ZHE 59.24 51.02 8.78 -0.96
[if A=RPd 1.84 1.36 0.87 0.08
3 54.03 49.67 7.12 -2.35
HRE 10.63 9.68 3.00 -2.16
HEE 5.49 4.90 1.26 -0.66
TERKEBRK 9.20 8.29 1.35 -0.32
FRETRERX 28.75 26.18 4.56 -1.34






